A 2013/2014-es tanévben iskolankban 8. évfolyamon végzett és gimnaziumban tovabbtanulék

tanulmanyi eredményei
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1. tanulo
8. osztaly |2013/2014-es tanév 5 5|15|5]|5]|5]|5]5 515 5,00
2014/2015-6s tanév 5 (5 515 5,00
2. tanuld
8. osztaly |2013/2014-es tanév 515]|5]|5]|5]5 5,00
2014/2015-0s tanév 5,00
3. tanulo
8. osztaly [2013/2014-es tanév 5|15|5[5]5]|5 5 5,00
2014/2015-6s tanév 5 4 4,86
4.tanul6
8. osztaly |2013/2014-es tanév 5 5 515]|5]|5]|5]5 5,00
2014/2015-6s tanév 514 4,83
5. tanulo
8. osztaly [2013/2014-es tanév 5 5|15[5]5]|5]|5 5 5,00
2014/2015-0s tanév 5 4 4,50
6. tanulo
8. osztaly |2013/2014-es tanév 5 5|15|5]|5]|5]5 5,00
2014/2015-6s tanév 4 4,50
7. tanulo
8. osztaly [2013/2014-es tanév 5,00
2014/2015-6s tanév 5 4,50
8. tanulo
8. osztaly |2013/2014-es tanév | 5 [ 5 5(5[5[5]|5 5,00
2014/2015-6s tanév 4,40
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9. tanulo
8. osztaly |2013/2014-es tanév 4 5({5[5[5]|5 5[5 4,92
2014/2015-6s tanév 4 5| 4 4,57
10. tanul6
8. osztaly [2013/2014-es tanév 514|5([5]65 4,92
2014/2015-6s tanév 4,43
11. tanul6
8. osztaly |2013/2014-es tanév 4 4,86
2014/2015-6s tanév 41 4 4,13
12. tanulo
8. osztaly [2013/2014-estanév | 5 | 4 4 515 515 4,58
2014/2015-6s tanév | 4 | 4 4 4 41 4 5141 4 4,43
13. tanul6
8. osztaly |2013/2014-es tanév | 5 | 5 4 5 4,57
2014/2015-6stanév | 4 | 4 [ 5 | 4 4 4,25
14. tanul6
8. osztaly [2013/2014-es tanév 5 4,43
2014/2015-6s tanév 4 4 3,75
15. tanul6
8. osztaly |2013/2014-es tanév 4,43
2014/2015-6s tanév 4 3,13
16. tanuld
8. osztaly |2013/2014-es tanév 4 4 41 4 4,42
2014/2015-6s tanév 3|4 2 3|3 5 3,71
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17. tanuld
8. osztaly |2013/2014-estanév | 4 | 4 4 1 4 41 4 415 4,33
2014/2015-0s tanév 4 4 5 5 3 4 3 4 4 5 4,14
18. tanulo
8. osztaly [2013/2014-es tanév | 4 | 4 4 4,29
2014/2015-6stanév | 3 | 3 | 4 | 5 3,50
19. tanuld
8. osztaly |2013/2014-estanév | 4 | 4 | 4 413|4]13|3]|4]°5 4 | 4 3,83
2014/2015-6stanév | 5 | 4 5] 4 5|5 4,67




